—~ —~ 8
o 0} 2
z Z &
= = ﬁ
2 2
<= - E
o ¢
5 <E F
g g O 5 /m X 3 J X | HgPP
oWy 2 o W (G o W
N = = 1] v E
MASONITE GLAZED 23 L% - of o
el o o sl o
8'-0" FIBERGLASS DOOR XX & sleo
INSWING / OUTSWING 5 :
2k F
e P
IMPACT di |82
Zxwl0s
A 5 MBS
woNAET|.
Gxe ik
GENERAL NOTES: 2x0|0G|:
74" MAX. O.A. 0% Z5ols
1. THIS PRODUCT HAS BEEN EVALUATED AND IS IN COMPLIANCE WITH THE 2006 IBC AND 2006 IRC WITH STATE FRAME WIDTH x= 5 09
OF TEXAS MODIFICATIONS. < 0 i w S
w =
5=z 0|50
2. PRODUCT ANCHORS SHALL BE AS LISTED AND SPACED AS SHOWN ON DETAILS. ANCHOR EMBEDMENT TO 2 E o|8 =
BASE MATERIAL SHALL BE BEYOND WALL DRESSING. LARGE MISSILE IMPACT RATING wy |2 >
DESIGN PRESSURE RATING (PSF) =
3. INSTALLATION DETAILS DESCRIBED HEREIN ARE GENERIC AND MAY NOT REFLECT ACTUAL CONDITIONS MAX. OVERALL FRAME SIZE (IN)
FOR A SPECIFIC SITE. IF INSTALLATION METHODS DEVIATE FROM THESE APPROVED DETAILS FURTHER POSITIVE NEGATIVE
INVESTIGATION BY A LICENSED REGISTERED DESIGN PROFESSIONAL IS REQUIRED.
INSWING 74" X 97.875" +45.0 -45.0
4. ADEQUACY OF EXISTING STRUCTURAL CONCRETE / MASONRY AND 2X FRAMING PER INSTALLATION AS A " " N i
MAIN WIND FORCE RESISTING SYSTEM CAPABLE OF WITHSTANDING AND TRANSFERRING APPLIED OUTSWING | 74" X 96.75 4.0 4.0

PRODUCT LOADS TO FOUNDATION IS THE RESPONSIBILITY OF ENGINEER OR ARCHITECT OF RECORD. QUALIFIED PANELS AND COMPONENTS

5. THIS PRODUCT IS IMPACT RATED AND DOES NOT REQUIRE IMPACT PROTECTION IN WIND BORNE DEBRIS MASONITE FIBERGLASS INSERTGLAZED PANELS-SMC 0.075" SKIN
REGIONS. REFER TO SHEETS 2, 3 & 4 FOR ALL HARDWARE OPTIONS

6. 1X BUCK OVER MASONRY/CONCRETE IS OPTIONAL. WHERE 1X BUCK IS NOT USED DISSIMILAR REFER TO SHEET 5 FOR IMPACT GLAZING INSERT OPTIONS
MATERIALS MUST BE SEPARATED WITH APPROVED COATING OR MEMBRANE. SELECTION OF
COATING OR MEMBRANE IS THE RESPONSIBILITY OF THE ARCHITECT OR ENGINEER OF RECORD.

7.APPROVED CONFIGURATIONS: X, XX

5IGNED: 11/06/2013
TABLE OF CONTENTS

SHEET| REV. SHEET DESCRIPTION
1 - ELEVATION AND GENERAL NOTES
- ASTRAGAL & LOCK DETAILS
- ASTRAGAL & LOCK DETAILS
- ASTRAGAL & LOCK DETAILS
SILL AND GLAZING DETAILS
- VERTICAL & HORIZONTAL CROSS SECTIONS
- ANCHOR ELEVATIONS AND NOTES
- COMPONENTS AND BILL OF MATERIALS

OIN|O|OA|S~|WIN
1
i
i

Luis R. Lomas P.E.
TX No.: 101889



UPPER BOLT SLEEVE
=z
o
&
94.000 z
60.625 &
48.000
35.375
2.000
B ==®=sz=sSsz=sS - I 8 . Sszos=ssso=P [
/0 1
() #8 X 1-5/8' PFH ﬁ TOP BOTTOM o| ©
WOOD SCREVS ﬂ%fﬂ o ANCHOR SCREW LOCATIONS ol S
- —\L@ £6-30 X 5/8" % 2 §'I
LATCH ACTUATOR , (o o ke 5z
>
(4) 48 X 3 PFH I z
WOD SCREVS - ﬂof Py
M <
OQuw (OwWw
= In_: 10 on
T = > = owon30].
| [ —r Ho B3 el Bl [0 'Gl—'&<cn£
=X PAE
BOLT ACTUATOR LEVER 8.563 — 0%z 3|2
|
54.688 X = ma
[T
<heluZ
59.749 Rl <
> =0|5
86.938 233 Z g 5
We L),
= '(/_) =
I?f HARDWARE LOCATIONS <|<
£l %
o
(?) 48 X 1-5/8' PFH £
V0D SCREWS
(2) 48 ¥ 1-5/8" PFH
g?ﬂfﬁﬁ/g, TERIOR @@ ULTIMATE MULTIPOINT
- ASTRAGAL 1.82"
MACHINE. SCREVS e \ - DOOR PANEL
— /ﬁ
i
A RS A
¢/ / R \ f 7
. SIGNED: 11/06/2013
— #10 X 2.5" PFH WS 0.062"
LOWER BOLT SLEEVE — #10 X 1" PFH WS :
INTE R =14 KWIKSET 980 / 985
SIGNATURE SERIES
DEAD BOLT AND LATCH U
Z
ASTRAGAL SECTION ,;'-."

/E\ ASTRAGAL SECTION

05 5
"‘I QO"-."CENSE".-'\.\{& =

\2_/ INSWING SHOWN-OUTSWING SIMILAR !Illff{@' - %ic;e.:.
ULTIMATE MULTIPOINT ASTRAGAL e

Luis R. Lomas P.E.
TX No.: 101889



UPPER BOLT SLEEVE

ROLLER STRIKE

BOLT ACUTATOR LEVER

(@) #8 X 1-1/2" PFH
WOOD SCREWS

LOWER BOLT SLEEVE

ULTIMATE TRILENNIUM ASTRAGAL

Y—2Ya

[

ToP BOTTOM
’J@o N ° ° @
21.250
42.250
51.250
61.250
69.187
79.187
93.250
ANCHOR SCREW LOCATIONS
80.354
56.050
22.942 |
@ 1 e ] o <] l %
HARDWARE LOCATIONS
WEATHERSTRIPPING
ULTIMATE TRILENNIUM
EXTERIOR ASTRAGAL
1.82"
@ DOOR PANEL
e A
g z
\\\M— \ %/
#10 X 2.5" PFH WS 265"
#10 X 1" PFH WS 0.062"
INTERIOR TRILENNIUM 3070 I
MULTI-POINT LOCK
/T ASTRAGAL SECTION ASTRAGAL SECTION
\:}/ INSWING SHOWN-OUTSWING SIMILAR

DESCRIPTION

NL_0016

09/05/13

DRAWING NO:

DRAWN BY:

COLFAX, N. C. 27235
MASONITE FIBERGLASS DOOR

ASTRAGAL AND LOCK SET DETAILS

ENDURA PRODUCTS, INC.
PREPARED BY:

8817 WEST MARKET STREET

5IGNED: 11/06/2013

Luis R. Lomas P.E.

TX No.: 101889




Top BOTTOM

95.250
5?\E\>

DESCRIPTION

80354

NL_0016

(52}
—
~
0
o
-~
D
o

@ 56,050

22942

DRAWING NO:

()]
(D] [ [ s |53
fogcao
S n
Eek|2a:
WOOD 2% 6|0%|E
BODY ) HARDWARE [ OCATIONS 8xZ|Xol2
X =S |07
: i P
i =
. 23 3|zx|.
4 &5 (25
=5 =
<=
:
ROLLER STRIKE WEATHERSTRIPPING
EXTERIOR WOOD ASTRAGAL
1y OOR PANEL
@ > T
> %/ %]Q . . 4/ e
=7 676"
= p=j
| e 3 5IGNED: 11/06/2013
3.158"
INTERIOR TRILENNIUM 3500 L #10 X 1" PFH WS
MULTI-PONT LOCK L #10 X 2.5" PFH WS
TRILENNIUM 3020 1.438"
MULTI-PONT LOCK
ASTRAGAL SECTION
WOOD ASTRAGAL / G\ ASTRAGAL SECTION

\4 / INSWING SHOWN-OUTSWING SIMILAR

Luis R. Lomas P.E.
TX No.: 101889



— 1/2" BITE
DOW 995 1/2" BITE DOW 995 —= 1/2" BITE DOW 995 1-1/4" OVERALL
T 1" OVERALL 1-1/4" OVERALL GLASS THIOK
INTERIOR GLASS THICK INTERIOR GLASS THICK INTERIOR 1/8" ANNEALED .
1/8" ANNEALED 1/8" ANNEALED 0.090" SAFLEX £
v v Oy PRl
2 BY EASTMAN P g & - W
. \ 2N 1/8" ANNEALED AIR SPACE
2 1/8" ANNEALED Z ]
v AIR SPACE v -\fbx AIR SPACE J 1/8" TEMPERED
1/8" TEMPERED 1/8" TEMPERED
GLAZING TAPE GLAZING TAPE
EXTERIOR EXTERIOR GLAZING TAPE EXTERIOR
(J\HORIZONTAL CROSS SECTION / K\ HORIZONTAL CROSS SECTION /L \HORIZONTAL CROSS SECTION o e
\5 /ODL SEVERE WEATHER \5 /RSL HURRICANE IMPACT \5 J SPECIALTY IMPACT 5| 8
GLAZING INSERT OPTION GLAZING INSERT OPTION GLAZING INSERT OPTION g%;'
%
B B:
., 2625"MAX. KD gué
D.L.O. WIDTH NI
omNS?P|z
2x o002z
Qo _|rZ|sd
i A Lt
A o = X L
< '¢7> E L '{})J
EwdE->
233|251,
95.25" MAX. ikl =~ "|22|5
PANEL HEIGHT % We |<N]|o
= 5 |
X o %
79" MAX. —T Y| ¢
D.L.O. HEIGHT FXTERIOR INTERIOR
T DOOR PANELX
EXTERIOR INTERIOR
U 1/4" TAPCON
MASONRY/CONCRETE
DOOR PANELX /CED > 1/4" TAPCON V i { @ BY OTHERS

|, 3575"MAX. _| Ck? -
| - Ef ¢%?,;:,;;/§ONCRETE PANEL WIDTH ‘ ﬂE %
7 ﬁ;%% /- MASONITE T v

< /4 N GLAZED INSERT 1-1/4" MIN. EMBEDMENT - <
Y
1-1/4" MIN. EVMBEDMENT - l < FIBERGLASS f SIGNED: 11/06/201
= E. 1
2-1/2" MIN. EDGEDlSTANCE—L—» “ l
2-1/2" MIN. EDGE DISTANCE Y

/C\ VERTICAL CROSS SECTION

IN-SWING MASONRY/CONCRETE INSTALLATION
(A VERTICAL CROSS SECTION NEV B
\_5_/ OUTSWING MASONRY/CONCRETE INSTALLATION %% xS
3 ,%9‘1'05“5&9 \\\%.:r
M STOAL DN
M

Luis R. Lomas P.E
TX No.: 101889



2-1/2" MIN. EDGE DISTANCE - MASONRY/CONCRETE
- = BY OTHERS
MASONRY/CONRETE 2-1/2" MIN. EDGE DISTANCE
BY OTHERS 1/4" TAPCON '
Zz
INTERIOR FINISH ~_1-1/4" MIN. EMBEDMENT E
N BY OTHERS &
i = 4 INTERIOR FINISH BY OTHERS z
Y ™ IS 1/4" MAX. o F
r SHIM A N D i
11/4" MIN. EMBEDMENT — . Y N N 2X BUCK OR WOOD FRAME
1X BUCK 1/4" MAX.
SEE NOTE 8 SHEET 1 SHIM
INTERIOR r of ©
A ey
@/ 1-3/8" MIN. EMBEDMENT / ﬁ INTERIOR 852
£
DOOR PANEL/ ! | 3/4" MIN. EDGE :
e EXTERIOR DISTANCE BB
L #10 WOOD SCREW Sw 1902
/B VERTICAL CROSS SECTION . ! A
EXTERIOR \_6_/ OUTSWING SHOWN-INSWING SIMILAR DOOR PANEL ‘ ol NI
MASONRY/CONCRETE INSTALLATION 2 %9122z
(@] 4 o
/D VERTICAL CROSS SECTION 23 (ad
\_6_/ OUTSWING SHOWN-INSWING SIMILAR < B 1 &
2X BUCK OR WOOD FRAME INSTALLATION SUsltx
Z N~ (eXe®) n
wyp (20
2X BUCK OR WOOD FRAME © 1= |G
[a
) 1X BUCK x
—— ——————————1-3/8" MIN. EMBEDMENT SEE NOTE 5 SHEET 1 o
(AN
INTERIOR FINISH BY OTHERS
%7 INTERIOR FINISH BY OTHERS
hY
ﬁ \ w 3/4" MIN.
2-1/2" MIN. EDGE DISTANCE <J INTERIOR  EDGE DISTANCE MASONRY/CONCRETE
I #10 WOOD SCREW % INTERIOR BY OTHERS
¢ A 11
] 1/4" TAPCON e~ |

1/4" TAPCON A IR @ 1

MASONRY/CONCRETE \ X
BY OTHERS B DOOR PANEL L /_/[
@ #10 X 1" PFH SMS :

2-1/2" MIN. EDGE DISTANCE

5IGNED: 11/06/2013

R 4" HINGE /
/ DOOR PANEL AN
——| [~=—1/4" MAX. SHIM roxT PFl:"SmerE
EXTERIOR FXTERIOR
1-1/4" MIN. EMBEDMENT ——=—m= 1/4" MAX. SHIM —#—| |—=
- — 1-1/4" MIN. EMBEDMENT
HORIZONTAL CROSS SECTION /HY HORIZONTAL CROSS SECTION /17
OUTSWING SHOWN-INSWING SIMILAR  \_6 / OUTSWING SHOWN-INSWING SIMILAR  \_6 _/
2X BUCK OR WOOD FRAME OCNCTRUCTION MASONRY/CONCRETE INSTALLATION Luis R. Lomas P.E.

TX No.: 101889



CONCRETE/MASONRY g B - CONCRETE/ MgﬁEON'\:Eé G DETAILE
OPENING ~\ \\
S =
R / 4 ‘ | / PRI ! ) |
RN U ? : 1 n » 1 n\\ J | o | 5
— v - =
DETAILE / ] %
o = #10PFHWS = . 3
114" TAPCON | F B ANCHOR 2 BY 8
< "~ MAIN FRAME WOOD BUCK  —
| :m
@] " =) )
— o, _ ASTRAGAL 14" TAPCON _yj O 8
QA = ANCHOR1BY =| oW ©
g9 . Qo
2 BY WOOD ASTRAGAL g & 2BYWOOD & T o
BUCK - HOWN A - o BUCK — i > Q of 2
R REFI(E)RENCE 2 R SEE ~_ | PETAILC =k 8| 8
Sa - DETAIL D ™ <o '/~ DETAILD R
_ o _ BELOW B o> i ClgZ
© = tlé i 2
i = g
a | — ) . E Q0
= e N 1w 0%
: DETAIL C &8y
= DETAIL E = - N|<Ols
! ] l I e Yslod|z
[ I T . ‘ © - 2
! ! B _ X _|lxz
v«\ ? Yoo e v«\3lv ' /B A\ <%%<%
4" . 4—4"_7 M R 3" b — 6" |—— L L1 E é E %
P E DETAILE B lu<
8" - —~ " / o) |: S
—|6" = 2 3|z9|..
| = ~ QD
WOOOD BUCK TO MAIN FRAME TO - ' B ' - 8 L3l
SUBTRATE ANCHORING BUCK ANCHORING ] o
XX XX o
== == SEE NOTE o e
y\‘ E'(I')'ITEC:)H STRIKE & DEADBOLT -
. ®
INSTALLATION NOTES: B PLATES TO STRIKE & BUCK
WITH #10 X 2" FH WOOD SCREW
1. ONE (1) INSTALLATION ANCHOR IS REQUIRED AT EACH ANCHOR LOCATION SHOWN. N ATTACH STRIKE & DEAD BOLT
SEE NOTE PLATES TO ASTRAGAL WITH
2. NUMBER OF INSTALLATION ANCHORS DEPICTED IS THE MINIMUM NUMBER OF ANCHORS TO BE USED FOR PRODUCT INSTALLATION. X ﬁf}%(AZCL/ZSTFF'J&OT%DJﬁﬁAEEQ’VS
ANCHORS MUST MATCH TYPE, SIZE, AND EMBEDMENT OF THOSE SHOWN HEREIN FOR RESPECTIVE SUBSTRATE. ® SIDELITE JAMB WITH #10 X 1 3/4"
FH WOOD SCREW.
3. SHIM AS REQUIRED AT EACH INSTALLATION ANCHOR WITH LOAD BEARING SHIM(S). MAXIMUM ALLOWABLE SHIM SIZE IS 1/4 INCH. 10 X 242" T
SHIM WHERE SPACE OF 1/8 INCH OR GREATER OCCURS. SHIM(S) SHALL BE CONSTRUCTED OF HIGH DENSITY PLASTIC OR BETTER. SE W JAMB
#10 X 1"
4. FOR INSTALLATION INTO WOOD FRAMING, USE #10 WOOD SCREWS OF SUFFICIENT LENGTH TO ACHIEVE 1-3/8" MINIMUM EMBEDMENT. DETAIL D 5. PEH WS
5. FOR INSTALLATION THROUGH 1X BUCK TO CONCRETE / MASONRY, OR DIRECTLY INTO CONCRETE / MASONRY, USE 1/4" TAPCON OF = /
SUFFICIENT LENGTH TO ACHIEVE 1-1/4" MINIMUM EMBEDMENT WITH A 2-/12" MINIMUM EDGE DISTANCE. #10 X 3/4" 2
PFH WS PANEL
6. ALTERNATE CONCRETE / MASONRY INSTALLATION ANCHORS OF EQUIVALENT PERFORMANCE CHARACTERISTICS CAN BE USED UPON ~L IGNED: 11/06/2013
PFH WS ——= PFH WS
7. MINIMUM EMBEDMENT AND EDGE DISTANCE EXCLUDE WALL FINISHES (INCLUDING BUT NOT LIMITED TO STUCCO, FOAM, BRICK
VENEER, AND SIDING). 5 s
o Uel,
® o — -
8. INSTALLATION ANCHOR CAPACITIES FOR PRODUCTS HEREIN ARE BASED ON SUBSTRATE MATERIALS WITH THE FOLLOWING 0 = Z
PROPERTIES: HEAD/SILL STRIKE PLATE DETAIL g 2
Oy g
A. WOOD - MINIMUM SPECIFIC GRAVITY OF 0.42. 3500/:3020 TRILENNIUM pon 101889 F 2
B. CONCRETE - MINIMUM COMPRESSIVE STRENGTH OF 3192 PSI. ALTACH LOCK THROWBCLT  HEAD STRIKE PLATE DETAIL Ui oense0.EE
C. MASONRY - STRENGTH CONFORMANCE TO ASTM C-90, GRADE N, TYPE 1 (OR GREATER). AS SHOWN. ULTIMATE MPA ASTRAGAL ztf;‘.s‘é;;é-ﬁfg;\%r
ATTACH ASTRAGAL THROW BOLT e

STRIKE PLATE TO FRAME .
AS SHOWN. Luis R. Lomas P.E.

TX No.: 101889



BILL OF MATERIAL
GENERAL PLASTICS NOTES:
DESCRIPTION TY.| MATERIAL
1. POLYURETHANE CORE FLAME SPREAD INDEX OF 50 'TE:" # SC ° Q
AND SMOKE DEVELOPED INDEX OF 60 PER ASTM E84. HEAD / JAMB
2. PLASTICS TESTING OF FIBERLASS FACING: 2 | OUTSWING BUMP THRESHOLD ZOB4565
Test Description Test Method Test Result 3 |INSWING ADJUSTABLE THRESHOLD ZAIL4565
- 4
SELF IGNITION TEMP | ASTM D1929 | Passed (650 °F) g 8882 ig';iAﬁORE MATERIAL WOOD OR LVL &
. . o
RATE OF BURNING ASTM D635 | Passed (c-1;<1 .0 in/min) 6 TDOOR BOTTOM RAIL %
SMOKE DENSITY ASTM D2843 | Passed (<75%) 0710 \ 1.219" 7 | DOOR LOCK STILE - CORE MATERIAL WOOD OR LVL W
TENSILE STRENGTH* | ASTM D638 | Passed (<10%) : _ 8 | DOOR SKIN (MIN. 0.070" THICK)
3. PVC PLASTICS TESTING OF RSL LITE FRAME MATERIAL 9 | DOOR SKIN (MIN. 0.085" THICK)
Test Description Test Method Test Result 4.562" 10 REINFORCEMENT WOOD FOR LOCKS
SELF IGNITION TEMP ASTM D1929 | Passed (>650 °F) ’ 11 COMPRESSION WEATHERSTRIP-PE-650 OR 500 QLON
RATE OF BURNING ASTM D635 Passed (C-1 <1.0 in/min) FRAME HEAD / JAMB 12 VINYL DOOR BOTTOM SWEEP-DBKAC
SMOKE DENSITY ASTM D2843 | Passed (<75%) BY ENDURA (PINE SG = 0.37) 1 i ZQ}(RE'EFF'TI\TQE o
FLEXURAL STRENGTH'| ASTM D790 iEEgEE: TBE%ZGPF;S'I 15 | CONTINUOUS LATCH AND HINGE STILE REINFORCEMENT e g
16 | POLYURETHANE FOAM BY MASONITE 8l.S
* STRENGTH TEST AFTER WEATHERING, PER SECTION 17 |EXTRUDED ALUMINUM ASTRAGAL BY ENDURA-6063T-6 3|22
2612.2 OF THE FBC. 18 | WOOD ASTRAGAL BY ENDURA ¢
19 | LATCH STRIKE PLATE " %
20 |DEAD BOLT STRIKE PLATE - |x3 S
21 | KWIKSET KNOB (SIGNITURE SERIES) G 8 Z
22 | KWICKSET DEADBOLT (SIGNITURE SERIES 980 / 985) Z o0 Q
4.563 = 23 | LATCH STRIKE PLATE 3500 / 3020 G h Qs
24 | DEADBOLT PLATE T e R|Z 8 %
] % 25 | ASTRAGAL STRIKE PLATE S¥ sloalz
1.625" 0.711" 26 | TRILENNIUM 3500 / 3020 LOCK Ry _|leZ|E
. . (@] < Zlu<la
1 375" ¢ 27 | TRILENNIUM 3070 MULTIPOINT LOCK & S ool
28 | #10 X 3 /4" PFH WOOD SCREW (HINGE TO FRAME) o 2T %
. 29 | #10 X 2 -1 /2" PFH WOOD SCREW é ] =g
4.562 = 30 | #10 X 1" PFH WOOD SCREW 329z,
INSWING THRESHOLD OUTSWING THRESHOLD 31 | ODL GLAZING INSERT-ALUMINUM LIGHT FRAME =~ 8 4 b
ALUMINUM / WOOD ALUMINUM / WOOD 32 |RSL GLAZING INSERT-PVC FRAME Weo |8,
BY ENDURA ZOBL4565 33 | ECLIPSE INTERIOR LOCK TRIM @ |1=5|=
BY ENDURA ZAIL 4565 i
o
o
1.750
[44.45] 1.250 1.600 1.750 —
| 1.600 [31.75] [40.64] [44.45] #—ﬂ o [ O\ 1750
[40.64] i o 0.594"
1.750 @) O YP
[44.45] BOTTOM RAIL 4" L © D ®
i N o o %
970 \ 908 1,600 - —
[24.64] HINGE STILE [23.05] kv\ [40.64] o { ©/ —
TOP RAIL HINGE STILE \<H2. %
(LVL) ASTRAGAL STRIKE PLATE
L JU . STEEL
DOOR TOP RAIL I~ 3.87" |
(PINE SG = 0.42) DOOR BOTTOM RAIL
(PINE SG = 0.42) 4" X 4" HINGE 0.097" THICK
0.768"
STEEL — = SYM
1600 1.565 1,625 | T — 9 L
[40.64] [39.75] [41.28] ‘ & L D & \ j
A 1.3m J
1.750 " "
[44.45) A % —= ‘|' 0.875 6.25
J L * r = 0.484" — 3500 / 3020 STRIKE PLATE
STEEL
LOCK BLOCK
LATCH STILE WEATHERSTRIPPING
PE-650 FOAM DOOR BOTTOM SWEEP
LOCK STILE (VINYL)
(LVL)

Luis R. Lomas P.E.
TX No.: 101889



	NL-0016 1 (1)
	NL-0016 2 (1)
	NL-0016 3 (1)
	NL-0016 4 (1)
	NL-0016 5 (1)
	NL-0016 6 (1)
	NL-0016 7 (1)
	NL-0016 8 (1)

